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Question Number : 1 Question Id : 226895667471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

The value of van't Hoff factar, i, for CH;COOH solution in water will be

1. Between 1 and 2
2. Llessthan 1

3.2

4.1

Options :

2268952587738. 1
2268952587739. 2
2268952587740. 3
2268952587741. 4

Question Number : 1 Question Id : 226895667471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No
Correct Marks : S Wrong Marks : 1



oI H CH;Co0H faaaH & i afe 8% &S () &1 9F BTl

1.13R 2 a9
219

:

4.1

Options :

2268952587738. 1
2268952587739.2
2268952587740. 3
2268952587741. 4

Question Number : 2 Question Id : 226895667472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
The following solutions were prepared by dissolving 1 g of solute in 1 L of the solution. Arrange the following solutions
in decreasing order of their molarity
(A) Glucose ( molar mass = 180 g mol ™
(B) NaOH [ molar mass =40 g mol ™)
(C) NaCl ( molar mass = 58.5 g mol™)
(D) KCI ( molar mass = 74.5g mol™h
Choose the correct answer from the options given below:

D), (C), (B)

(

B). (D). (C
Q) (D), (A
G (A) (B)

1. (A),
2. (A),
3. (B).
4. (D),

(
(

e
[

=}

Options :

2268952587742. 1
2268952587743.2
2268952587744. 3
2268952587745. 4

Question Number : 2 Question Id : 226895667472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



194 [qag @1 1 die [qars  digex FafRad faeas dar e e o) Faiaiad Aaa- &f 399! AicRdl & 9ed &9
¥ ogafd &

(A) TP I (HITR S99 = 180 W HidT )
(B) NaOH (HITR %o0HH = 40 TH AIa )
(C) NaCl (HITR o9 H = 58.5 914 Higl )
(D) KCI (FIRR So8HH = 74.5 JH Hie )
i e e gl # 9 w@t S| I

A), (D). (C), (B)
A), (B). (D), (C)
B). (C). (D). (A)
D), (C). (A), (B)

s ey s g

T
A
3.
4.

Options :

2268952587742 1
2268952587743.2
2268952587744. 3
2268952587745. 4

Question Number : 3 Question Id : 226895667473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l

List-1 List-il
Solutions y
Explanation
(&) Saturated solution (1) Solution having two components.
(B) Isotonic solutions (I} A solution whose osmotic pressure is more than that of ancther.

(@ i luti (1) A solution which contains the maximum amount of solute that can be dissolved
inary solution i . i
v in a given amount of solvent at a given temperature.

(D) Hypertonic solution (IV) The solutions having same osmotic pressure at a given temperature.

Choose the correct answer from the options given below:

T.(A) - (@, (8) - (I, (C) - (), (D) - (V)
2. (A) - (), (B) - (1), (G} - (), (D) - (V)
3. (A) - (0, (B) - (). (Q) - (V). (D) - (1)
4. (A) - (), (B) - (V). (© - (0, (D) - (1)

)
)

Options :

2268952587746. 1
2268952587747.2
2268952587748. 3
2268952587749. 4

Question Number : 3 Question Id : 226895667473 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A)-(1), (B)-(1), (C)-(), (D)-(IV)
2. (A)-(1), (B)-(1, (C)-(1), (D)-(IV)
3. (A)-(1), (B)-(1), (C)-(1V), (D)-{IIN)
4. (A)-(), (B)-(1V), (O-(1), (D)-(1D)

Options :

2268952587746. 1
2268952587747.2
2268952587748. 3
2268952587749. 4

Question Number : 4 Question Id : 226895667474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Give the reason for low concentration of oxygen in the blood and tissues of people living at high altitude

1. Both low temperature and high atmospheric pressure
2. low temperature

3. Low atmospheric pressure

4. High atmospheric pressure

Options :

2268952587750. 1
2268952587751.2
2268952587752. 3
2268952587753. 4



Question Number : 4 Question Id : 226895667474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

3@ Sdls G Te+ drd anll & 3ad AR Had| 4 Ao & &4 Figdl &1 DR 9d1d?

1. g a9 SR 9= agFe i g gl
2. B dgEH

3. B digHS T"

4. 3« dIgHSHY BN

Options :

2268952587750. 1
2268952587751.2
2268952587752. 3
2268952587753. 4

Question Number : 5 Question Id : 226895667475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Calculate the molality of Kl if the density of 20% (mass/mass) aqueous solution of Kl is 1.202 g mL™".
(Molar mass of Kl is 166 g mol™")

1.1.5 mol kg™'
2.1.2 mol kg™’
3.15 mol kg™!
4.0.12 mol kg™’

Options :

2268952587754. 1
2268952587755.2
2268952587756. 3
2268952587757. 4

Question Number : 5 Question Id : 226895667475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

K1 ST Tieierd @l AT0HT @1 916 K1 & 20 Uiaeid (GoaH/So0dF) Sl [9aa9 &1 99 1.202 g mL B
(KI &1 IR §o09H 166 IH Hid' 8)

1. 1.5 Hie [ !
2. 1.2 Hia far
3. 15 Hid foar!
4.0.12 9 fasar

Options :

2268952587754. 1
2268952587755.2
2268952587756. 3
2268952587757. 4

Question Number : 6 Question Id : 226895667476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



The unit of E.g is

1.vm]
2.5cm™

3V

4.5 cmZ mol™!

Options :

2268952587758. 1
2268952587759.2
2268952587760. 3
2268952587761. 4

Question Number : 6 Question Id : 226895667476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Ecen ﬁ_ﬁa’—rﬁt %

1.vmt
2.5cm™

3.V

4.5 cm™ mol™!

Options :

2268952587758. 1
2268952587759. 2
2268952587760. 3
2268952587761. 4

Question Number : 7 Question Id : 226895667477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11

Property Unit

(A) Cell constant N cm™

(B) Molar conductance (i) ohm™! cm? mol™!
(C) Specific conductance () ohm™ cm™!

(D) Conductance (Iv) ohm™

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (), (Q) - (), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (1), (D) - (1V)
3. (A) - (1), (B) - (), (©) - (V). (D) - (1)
4. (A) - (1), (B) - (V). (C) - (), (D) - ()
Options :

2268952587762. 1

2268952587763.2



2268952587764. 3
2268952587765. 4

Question Number : 7 Question Id : 226895667477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

-1 BT GeA-11 @ Gy e &

- -
Bl ELiE]
(A) U FRRTE (1) T
(B) AR Tra@adr (1) 3! TR e
(c) fafmy =rcear (1 3T et
(D) Trcddl (V) T
4 feu 7o fasedl o © |Et IW g
1. (A)-(0, (B)-(1), (©)-(H), (D)-(IV)
2. (A)-(1), (B)-(11), (C)-{11), (D)-(IV)
3. (A)-(, (B)-(1), (O)-(1V), (D)-(11)
4. (A)-(I), (B)-(1V), (©)-(1), (D)-(1N)
Options :

2268952587762. 1
2268952587763. 2
2268952587764. 3
2268952587765. 4

Question Number : 8 Question Id : 226895667478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The following statements describe various properties of a Mercury cell:
{A) It converts energy of combustion into electrical energy

(B) It is rechargeable

(C) The cell reaction involved is Zn{Hg) + HgO(s} = ZnO(s) + Hg(l)

(D) It is a low current device used in hearing aids

Choaose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A) and (C) only

3. (A), (B), (C) and (D)
4. (C) and (D) only

Options :

2268952587766. 1
2268952587767.2
2268952587768. 3
2268952587769. 4

Question Number : 8 Question Id : 226895667478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Frafeiad gre mead el o fafte o1 1 Feitd 33 &
(A) T8 T8 $ell @ [agdd ol § gikafad @edl ol

(B) ¥E UF:MafRId & arell 4 &

(C) Tgad e AURBAT Zn (Hg) + HgO(s) — ZnO(s) + Hy(l)

(D) T8 Udh & fded oRT aTa] SUSBYl & o] SUdiT 3au) 331 H faar ol g |
i few 1 g ed! 3 9 wel 9w -

1.99d (A), (B) IR (D)
2.%ad (A) AR (O

3. (A), (B), (Q) TR (D)
4.%4d (C) 3R (D)

Options :

2268952587766. 1
2268952587767.2
2268952587768. 3
2268952587769. 4

Question Number : 9 Question Id : 226895667479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Which cell is used in automobiles and inverters?

1. Mercury cell

2. Dry cell

3. Lead storage cell
4. Fuel cell

Options :

2268952587770. 1
2268952587771.2
2268952587772. 3
2268952587773. 4

Question Number : 9 Question Id : 226895667479 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
SeHEEd AR 39 § [l Ua &1 Suan f&a1 9l 82

1. TR® U

2. 355 4d

3. T8 Hega 4d
4. 39 4

Options :

2268952587770. 1
2268952587771.2
2268952587772. 3
2268952587773. 4

Question Number : 10 Question Id : 226895667480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

A galvanic cell behaves as electrolytic cell when ?

1. Ecell = Eext
2. Eey=0

3 EE)ct > Ecei:‘
4. Ecep > Eent

Options :

2268952587774. 1
2268952587775.2
2268952587776. 3
2268952587777. 4

Question Number : 10 Question Id : 226895667480 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

TS e 4 B (3T HTHeT I & U § TI8R Bl o7

1. Ecenl = Bewt
2. B =0

3. Bt > Ecey
4. Ecen = Eont

Options :

2268952587774. 1
2268952587775.2
2268952587776. 3
2268952587777. 4

Question Number : 11 Question Id : 226895667481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following does not represent a correct application of the coordination compound?

1. cis-platin effectively inhibit the growth of tumours.

2. chlorophyll help in photosynthesis

3. desferrioxime B is used in treatment of lead poisoning

4. cyanocobalamine, antipernicious anemia factor is a coordination compound of Co

Options :

2268952587778. 1
2268952587779. 2
2268952587780. 3
2268952587781. 4

Question Number : 11 Question Id : 226895667481 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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3. SEpRUFEEY d ®1 3G 44T faudddl & SU9R | a1 9l 8
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Options :

2268952587778. 1
2268952587779.2
2268952587780. 3
2268952587781. 4

Question Number : 12 Question Id : 226895667482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Arrange the following ions in increasing order of number of 3d-electrons
(A) Cr*
(B) Cu*
(C) Tid*
(D) Mn*

Choose the correct answer from the options given below:

Options :

2268952587782. 1
2268952587783.2
2268952587784. 3
2268952587785. 4

Question Number : 12 Question Id : 226895667482 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



fFrafeiad gl @1 3d-goidei- ®1 GBI & 96d HH H oJaieyd B3
(A) Cr**

(B) Cu*

(C) Ti**

(D} Mn*

T fey 7 faeedl # 9 Wl IR I

1. (B), (A}, (O, (D)
2.(Q), (A), (D), (B)
3.(Q). (D) (A) (B)
4. (D), (B). (O), (A)

Options :

2268952587782. 1
2268952587783.2
2268952587784. 3
2268952587785. 4

Question Number : 13 Question Id : 226895667483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The atomic number of Lanthanum is 57. lts electronic configuration will be .......

1. [Xe]5d 657

2. [Xel4f' 54°

3. [XeJ4F

4. [Xej4f'5d"6s"

Options :

2268952587786. 1
2268952587787. 2
2268952587788. 3
2268952587789. 4

Question Number : 13 Question Id : 226895667483 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

oY= @ U] T 57 B | 3UE godi-d [9-aT9 gRT

1. [Xe] 5d’6s?

2. [Xe] 452

3. [Xe] 4F

4. [Xe] 4f'5d76s!

Options :

2268952587786. 1
2268952587787. 2
2268952587788. 3
2268952587789. 4



Question Number : 14 Question Id : 226895667484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Match compound/elememts of List-1 with their uses given in List-II

List-1 List-1l
(Compound/Elements) (Uses)

(A) Magnesium based alloy is constituent of {I) Bullets

(B) Lanthanoid oxide () Petroleum cracking

(€) Mixed oxides of Lanthancids are employed in (I} Television screen

(D) Misch metal (IV) Lanthanoid metal and iron

Choose the correct answer from the options given below:

1. (A) - (. () - (I, (C) - (Im), (D) - (IV)
2. (A) - (0, (B) - (), (C) - (), (D) - (IV)
3. (A) - (0, (B) - (I, (C) - (V). (D) - (1IN
4. (A) - (1, (B) - (V). (Q) - (), (D) - (IN)

Options :

2268952587790. 1
2268952587791.2
2268952587792. 3
2268952587793. 4

Question Number : 14 Question Id : 226895667484 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

-1 & AfiTd/dedl @ Fall-n 7 G T8 39 Suai & @y i

-1 -1

i e (SuEr)

() BeftfRrrm anetfed firy g &1 Tew § () goie

(B) UGS HIFES (1) TeITEH =R

(€) S o R ofleuigs &1 IugiT fedr Siian g1)(1) SaiifaeH b

(D) g g (V) THITS 1g 37 e
i feu TTe faded! # § |8t IW g

1. (A)-(1): (B)-(1), (O)-(1), (D)-(IV)
2. (A)-(). (B)-(1n), (C)-(1), (D)-(1V)
3. (A)-(1). (B)-(1), (C)-(1V), (D)-{11D)
4. (A)-(), (B)-(1v), (C)-(1). (D)-(IN)

Options :

2268952587790. 1
2268952587791. 2
2268952587792. 3
2268952587793. 4

Question Number : 15 Question Id : 226895667485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



What is the color of F33+(aqs} ion?

1. Yellow

2. Violet

3. Colourless
4. Bluepink

Options :

2268952587794. 1
2268952587795.2
2268952587796. 3
2268952587797. 4

Question Number : 15 Question Id : 226895667485 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fe3* (Gid) 30 &1 3 &1 87

1. 4l
2. &
3. 3eH
4. e Tt

Options :

2268952587794. 1
2268952587795. 2
2268952587796. 3
2268952587797. 4

Question Number : 16 Question Id : 226895667486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Why is HCI not used te make the medium acidic in oxidation reactions of KMnQy in acidic medium?

1. KMnQy is weaker oxidizing agent than HC|

2. KMnOy4 oxidises HCl into Cl; which is also an oxidizing agent
3. Both HCl and KMnQy act as oxidizing agent

4. KMnOy act as a reducing agent in the presence of HCl

Options :

2268952587798. 1
2268952587799. 2
2268952587800. 3
2268952587801. 4

Question Number : 16 Question Id : 226895667486 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1



ST A1EH H KMn0, 1 Higaie sifyferarsit o mrey ol 991 & fou Hal &1 Juan a9t A1 faedr oirdr 87

1. KMnO, BI3Saalid 37 (HCl) B g1 Gad A0 IR o
2. KMnO4 HCI I Cl, H Siiafiard Bl & ol U SHIRTHI0 dRa i 8
3. HCl 3R KMnO, T SHTaie-0 &S & T H &1 3d &

4. KMnO, HCl &1 SURfd I U 3uedids & ¥4 § S aldl o

Options :

2268952587798. 1
2268952587799.2
2268952587800. 3
2268952587801. 4

Question Number : 17 Question Id : 226895667487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Acidified potassium dichromate oxidizes sulphides (%) to .........

1.504%
2.505%

3. sulphur (5)
4.503

Options :

2268952587802. 1
2268952587803. 2
2268952587804. 3
2268952587805. 4

Question Number : 17 Question Id : 226895667487 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

1. 8047
2.505%

3. T (5)
4.50;

Options :

2268952587802. 1
2268952587803. 2
2268952587804. 3
2268952587805 4

Question Number : 18 Question Id : 226895667488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



What is the decreasing order of field strength of given ligands?
(A) 5=

(B) Ethylenediamine

(C) NCS

(D) CN-

Choose the correct answer from the options given below:

(A). (C). (B). (D
(A). (B), (O). (D
(D) ( al
(D). ( Al

—
—

B}, (C
C). (B

A

2
e
=

1.
2.
&
4.

O
=

Options :

2268952587806. 1
2268952587807. 2
2268952587808. 3
2268952587809. 4

Question Number : 18 Question Id : 226895667488 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

feu U forTs &1 &7 wmYd & uedr %9 ol 82
(A) 5=

(8) TSRS

(C) NCS™

(D) CN-

T ey U faepedl § 9 wel 9w’ I:

1. (A
2. (A
3.(D
4. (

——

Q). (), (D
+(B). (O, (D
(B (Q). (A
(C)r (B), (A

=)
P i
= s =

Options :

2268952587806. 1
2268952587807. 2
2268952587808. 3
2268952587809. 4

Question Number : 19 Question Id : 226895667489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



What is the IUPAC name of [Pt{NH3),Cl5] ?

1. Diamminedichloridoplatinum (V)
2. Diamminedichloridoplatinum (I1)
3. Diamminedichlaridoplatinum (0)
4. Dichloridodiammineplatinum (IV)

Options :

2268952587810. 1
2268952587811.2
2268952587812. 3
2268952587813. 4

Question Number : 19 Question Id : 226895667489 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

[Pt{NH=),Cl,] BT 3T5. 4, 0. €. I, A9 |1 87

4. SERINSISIZHHIZAG AT (IV)

Options :

2268952587810. 1
2268952587811. 2
2268952587812. 3
2268952587813. 4

Question Number : 20 Question Id : 226895667490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Select the correct statements for [Fe(CN)¢]* co mplex:
(A) Paramagnetic
(B) sp>d® hybridization
(C) Magnetic moment = 5.92 BM
(D) d?sp® hybridization
Choose the correct answer from the options given below:

A) and (D) only
A), (B) and (C) only
B) and (C) only
B), (C) and (D) only

ey s e

T
A
3.
4.

Options :

2268952587814. 1
2268952587815.2
2268952587816. 3
2268952587817. 4



Question Number : 20 Question Id : 226895667490 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

[Fe(CN)sl TPal @ e well &Y= =
(A) STITFB

(B) sp*d” €U

(C) IE®IT 3gU = 5.92 BM

(D) d?sp® Haheu

d feu e fawedl O O |Et IW g

1.%ad (A) 3R (D)
2.%ad (A), (B) 3R (O)
3. &ad (B) IR ()
4.%ad (B), (C) 3R (D)

Options :

2268952587814. 1
2268952587815.2
2268952587816. 3
2268952587817. 4

Question Number : 21 Question Id : 226895667491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11
(A) Ambident nucleophiles (1) Symmetrical object
(B) Plane polarized light (1) Saytzeff rule

(C) Superimposable mirror image |(lll) Cyanides and nitrites

(D) p-elimination reaction (IV) Nicol Prism

Choose the correct answer from the options given below:

1. (A) - (1, (B) - (W), (Q) - (1. () - (1)
2. (A) - (1), (B) - (IN), (C) - (M), (D) - (IV)
3. (A) - (1, (B) - (1), (C) - (IV), (D) - (l)
4. (A) - (1), (B) - (IV), (@) - (I, (D) - ()

Options :

2268952587818. 1
2268952587819.2
2268952587820. 3
2268952587821. 4

Question Number : 21 Question Id : 226895667491 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



-1 BT JAT-11 B 1Y e B

-1 11l

(a) I TimEe! Afiete|() Taitd a5

(B) FHAT YdIPpd HBT (N S

() sftRuviig cuu uidferd |(11) §EARS 3R Al5gEe
(D) p-Tamia sifufepan (v) Fea s

F fau 7 fomedl O 9 WEt SR o

1. (A)-(lm), (B)-(V), (©)-(). (D)-(11)
2. (A)=(1), (B)-(11D), (©)-(1N), (B)-(1V)
3. (A)-(1). (B)-(), (C)-(1V), (D)-(1)
4. (A)-(1), (B)-(1vV), (C)-(), (D)-(1)

Options :

2268952587818. 1
2268952587819. 2
2268952587820. 3
2268952587821. 4

Question Number : 22 Question Id : 226895667492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Optically active alkyl halide undergoing Sy2 substitution involves

1. retention of configuration
2. recemic mixture

3. inversion of configuration
4. formation of carbocation

Options :

2268952587822. 1
2268952587823.2
2268952587824. 3
2268952587825. 4

Question Number : 22 Question Id : 226895667492 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

§[qUT Yol Tfeha Ufhe SagS o Sy2 UfaRiTe € eRd A Sl B,

1. 4079 &1 4RI

2. Wi e

3. fa=arg &1 ufaamT
4. DI ST 891

Options :

2268952587822. 1
2268952587823. 2
2268952587824. 3
2268952587825. 4

Question Number : 23 Question Id : 226895667493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1

Gabriel phthalimide synthesis is used for the preparation of

1. tertiary amine
2. acid synthesis
3. primary amine
4. secondary amine

Options :

2268952587826. 1
2268952587827.2
2268952587828. 3
2268952587829. 4

Question Number : 23 Question Id : 226895667493 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

e AfiemIss =Y &1 394 JOR $3 & [od [6g] ol &

1. goiiges udH
2. 37 YRewO
3. U U

4. fgdo® tHA

Options :

2268952587826. 1
2268952587827.2
2268952587828. 3
2268952587829. 4

Question Number : 24 Question Id : 226895667494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

cl
Heat
¢ 2MNa + CHyll —— = v 2NaCl
Dry ether

The above reaction is an example of

1. Sandmeyer's reaction
2. Wurtz reaction
3. Wurtz Fittig reaction

4. Kolbe reaction

Options :

2268952587830. 1
2268952587831. 2
2268952587832. 3
2268952587833. 4

Question Number : 24 Question Id : 226895667494 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



cl
Heat
¢+ 2Na + CHyCOl —— = + 2NaC
Dry ether

IWRIFd e vw Seeeur g

1. TSAR i
2. g i
3. 3¢ Fonfer sifiifeman
4. Hied YT

Options :

2268952587830. 1
2268952587831. 2
2268952587832. 3
2268952587833. 4

Question Number : 25 Question Id : 226895667495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The reagent(s) used in hydroboration oxidation of propene are

(A) BaHg

(B) H:0

(C) H20;

(D) OH"

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952587834. 1
2268952587835.2
2268952587836. 3
2268952587837. 4

Question Number : 25 Question Id : 226895667495 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



it o ITaRT T & eRgleneH sifadieo o o < &
(A) BaHg

(B) Hz0

(C) H,0,

(D) OH-

Fd fau e fawmed! O O WEt IW -

1.%4d (A), (B) 3R (D)
2.%ad (A), (B) 3R (O)
3. (A), (B), (C) 3R (D)

4.%ad (), (C) 3R (D)

Options :

2268952587834. 1
2268952587835.2
2268952587836. 3
2268952587837. 4

Question Number : 26 Question Id : 226895667496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The carbohydrate used as storage molecule in plants is

1. Starch

2. Glycogen
3. Cellulose
4. Glucoss

Options :

2268952587838. 1
2268952587839. 2
2268952587840. 3
2268952587841. 4

Question Number : 26 Question Id : 226895667496 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Uyl o YSRU U] & &Y H IAFT {601 S dIel dlalegae o

1. %™
PRCIEGATE
3. Yay
4, B

Options :

2268952587838. 1
2268952587839. 2
2268952587840. 3
2268952587841. 4



Question Number : 27 Question Id : 226895667497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Hell-Violhard Zelinsky reaction is used for the formation of

1. alcohols

2. aldehydes

3. ketones

4. a-halocarboxylic acids

Options :

2268952587842. 1
2268952587843.2
2268952587844. 3
2268952587845. 4

Question Number : 27 Question Id : 226895667497 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Cae o

gd-diagre i

1. Tedled

2. Ufcsegs
3. BleH

4. o-gaIEE A cE 3

TR &1 SuahT 39 7184 & o fear S &

Options :

2268952587842. 1
2268952587843.2
2268952587844. 3
2268952587845. 4

Question Number : 28 Question Id : 226895667498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
What is the correct sequence of increasing reactivity of the following compounds towards nucleophilic addition
reaction?
(A) Ethanal
(B) Propanone
(C) Propanal
(D) Butanone
Choose the correct answer from the options given below:

(A,

E

1
2.(
3.(
4. {C}.
Options :

2268952587846. 1
2268952587847. 2



2268952587848. 3
2268952587849. 4

Question Number : 28 Question Id : 226895667498 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

i S T SifiifEar 3 v Frafiad Sife] o s o1 ad omT o &
(A) W

(B) UMU=H

(C) WG

(D) SIEH

2 feu e fawed! & € WEt S

Options :

2268952587846. 1
2268952587847.2
2268952587848. 3
2268952587849. 4

Question Number : 29 Question Id : 226895667499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following reagent(s) is required for the conversion of Benzene to methyl benzoate?
{A) Bry/FeBrs

(B) Mg, dry Ether

(C) CO,, HRO7

(D) Methanal, Conc. H;50,

Choose the correct answer from the options given below:

1. (A), (B) and (C) only
2. (A), (B) and (D) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952587850. 1
2268952587851.2
2268952587852 3
2268952587853. 4

Question Number : 29 Question Id : 226895667499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



§uil @I Hie deite § gaod & fau Rafaiead 3 9 &9 sftede @i srazadd sl 82
(A) Bry/FeBrs

(B) Mg, TP R

(C) €O, Hz0*

(D) HYHATE, |ig H50,

tu feu T fo el 9 |él I

1.®Hdd (A), (B) AR (O)
2. %4d (A), (B) 3R (D)
3. (A), (B), (O) 3R (D)

4.%dd (B), (C) 3R (D)

Options :

2268952587850. 1
2268952587851.2
2268952587852 3
2268952587853. 4

Question Number : 30 Question Id : 226895667500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which reagent will distinguish Benzophenone from acetone 7

1. Fehling's reagent
2. Tollen's reagent
3. 2,4-DNP reagent
4. |5/NaOH

Options :

2268952587854. 1
2268952587855.2
2268952587856. 3
2268952587857. 4

Question Number : 30 Question Id : 226895667500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

B g1 HHhHD SShAM DI UHICH Y UYd B

1. Thefa aifiipHs®
2. 2icH sfied®
3. 2,4-DNP 3fiFHE

4. |5/NaOH

Options :

2268952587854 1
2268952587855.2
2268952587856. 3
2268952587857. 4



Question Number : 31 Question Id : 226895667501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

The structural feature in carbonyl compound for Aldol condensation

1. presence of at least one B-hydrogen
2. presence of at least one a-hydrogen
3. Concentrated base
4. lack of o hydrogen

Options :

2268952587858. 1
2268952587859.2
2268952587860. 3
2268952587861 4

Question Number : 31 Question Id : 226895667501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

SR GiFTe! & Uesid W9 & o WRa-e® 10 &
1.9 U 1 UD Siel-gig oo (o uieyfd

2. %9 U H IS o-BIISIoH (b JURUfd

3. 9% &R

4, a-BIESloH ®I Bl

Options :

2268952587858. 1
2268952587859.2
2268952587860. 3
2268952587861. 4

Question Number : 32 Question Id : 226895667502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The nitrogen atom in amines is trivalent and possess an unshared pair of electrons. The geometry of trimethyl amine is

1. Tetrahedral

2. Pyramidal

3. Square planar
4, Triangular

Options :

2268952587862. 1
2268952587863. 2
2268952587864. 3
2268952587865. 4

Question Number : 32 Question Id : 226895667502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Wi  TgEio TRAY] BiEtieie gidl & SR 399 SEgHINI 3adei IF1d aidl & [CRATIauH-®! il &

1. A ADY
2. Tufdsa

3. PR THa
4. Br@mig

Options :

2268952587862. 1
2268952587863. 2
2268952587864. 3
2268952587865. 4

Question Number : 33 Question Id : 226895667503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

What happens when CgHs-O-R is treated with HX?

1. R¥ and CgHsOH are formed
2. ROH and CgHsX are formed
3. CgHa¥5 and ROH are formed
4. RX and CgHsX are formed

Options :

2268952587866. 1
2268952587867. 2
2268952587868. 3
2268952587869. 4

Question Number : 33 Question Id : 226895667503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

1 5Idl & 91 CgHs-0-R, HX & Ty g fogT Sl &7

1. RX 3R CeHsOH §d &
2.ROH 3R CeHsX T9d &
3. CsHaX; IR ROH TFd &
4. RX 3 CeHsX Td &

Options :

2268952587866. 1
2268952587867.2
2268952587868. 3
2268952587869. 4

Question Number : 34 Question Id : 226895667504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



In the nitration of benzene using a mixture of conc. H3504 and conc. HNQj3, the nitrating species is

1. NO5™
2.NO;*
3. NO~
4. NOzand NO;™

Options :

2268952587870. 1
2268952587871.2
2268952587872 3
2268952587873. 4

Question Number : 34 Question Id : 226895667504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Ti% H.50, 3R TTE HNO; ST & I9GRT TR sl & ARI®U & A5 GRS Ued o

1.NOy
2.NO5™
3.NO*
4. NO3 3R NO,™

Options :

2268952587870. 1
2268952587871.2
2268952587872. 3
2268952587873. 4

Question Number : 35 Question Id : 226895667505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which of the following compounds will not give azo coupling reaction with benzene diazonium chloride?

1. Nitrobenzene
2. Aniline

3. o-Toluidine
4. Phenol

Options :

2268952587874. 1
2268952587875.2
2268952587876. 3
2268952587877. 4

Question Number : 35 Question Id : 226895667505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Fofefed ¥ ¥ oF 91 9iffe oull9 Sgello0 wIRE s & 9 U 3704 Hilsar Tal aa?

1. AIgEIao
2. T

3. o—_c;]fﬁ_aq:[
4. ftpAra

Options :

2268952587874. 1
2268952587875.2
2268952587876. 3
2268952587877. 4

Question Number : 36 Question Id : 226895667506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Amylose is a water-soluble part of starch. What is the percentage solubility of it?

1. 20 to 30%
2.15 to 20%
3. 30 to 60%
4. 50 to 70%

Options :

2268952587878. 1
2268952587879. 2
2268952587880. 3
2268952587881. 4

Question Number : 36 Question Id : 226895667506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

U, w2 &1 OF H goeie B9 61 59d wiawd ge-Riear & a7

1.20 9 30 UfawE
2.15 9 20 Ufaed
3.30 3 60 U=
4. 50 ¥ 70 Ufaw

Options :

2268952587878. 1
2268952587879.2
2268952587880. 3
2268952587881. 4

Question Number : 37 Question Id : 226895667507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



What is an example of globular protein?
{A) Insulin

(B) Keratin
(C) Albumin

(D) Myosin

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A) and (C) only

3. (A), (B), (C) and (D)
4. (B), (C) and (D) only

Options :

2268952587882. 1
2268952587883. 2
2268952587884. 3
2268952587885. 4

Question Number : 37 Question Id : 226895667507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

MAHIGR UIdH & 3180 &1 67

(A) 3gfoA
(e) fafe

(C) TesgiA
(D) HEIRA
Fr feg T fowed! #f 4 W@ SR T

1. Had (A), (B) 31 (D)
2. %ad (A) AR (O

3. (A), (B), (C) 3R (D)
4.%4d (B), (C) 3R (D)

Options :

2268952587882. 1
2268952587883.2
2268952587884. 3
2268952587885. 4

Question Number : 38 Question Id : 226895667508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Which types of bonds or interactions are found in the 8-helix of protein?

1. lonic bond

2. Covalent interaction
3. H-bond

4. Banana bond



Options :

2268952587886. 1
2268952587887.2
2268952587888. 3
2268952587889. 4

Question Number : 38 Question Id : 226895667508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
Ui & dier-afoey ¥ fow ueR & &4 a7 it urs ot 82

1. S §Y

2. Geyae® il
3. H-dy

4. T a9

Options :

2268952587886. 1
2268952587887. 2
2268952587888. 3
2268952587889. 4

Question Number : 39 Question Id : 226895667509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match the amino acid given in List-1 with their one letter code given in List-l

List-1 List-l

Name of amino acid One letter code
(A) Lysine Hw

(B) Tryptophan (na
(C)Tyrosine {im K

(D) Glutamine vy

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (©) - (1), (D) - (V)

2. (A) - (), (B) - (1), (C) - (V). (D) - (1)

3. (A) - (. (B) - (I, (C) - (V). (D) - (1)
)

4. (A) - (1), (B) - (V) (C) - (), (D) - (1)
Options :

2268952587890. 1

2268952587891. 2

2268952587892. 3

2268952587893. 4

Question Number : 39 Question Id : 226895667509 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



-1 D1 G-I & 1Y e &
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I TS HTAN 0P AR FTHIS
(A) A mw

(8) fepTtht ana

(C) TR (I K

(D) T HA (V).Y
TRt ea I g@ SR I

T (A)-01). (B)=(0. (©)-(11), (D)-(IV)
2. (A)-(n), (B)-(D, (©)-(v), (D)-(I)
3. (A)-(: (B)-(). (O)-(IV). (D)-(11D)
4. (A)-(i), (B)-(V), (©-(1). (O)-(1D

Options :

2268952587890. 1
2268952587891. 2
2268952587892. 3
2268952587893. 4

Question Number : 40 Question Id : 226895667510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Arrange the following compounds in increasing order of their acidic strength:
{A) 3-nitrophenol

(B) 3,5-Dinitrophenol

(C) 2,4.6 -Trinitrophenol

(D) Phenal

Choose the correct answer from the options given below

1.(D), (). (B), (A)
2.(Q). (A). (B), (D)
3. (D). (A) (B). (©)
4. (A), (B), (C), (D)

Options :

2268952587894. 1
2268952587895. 2
2268952587896. 3
2268952587897. 4

Question Number : 40 Question Id : 226895667510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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(A) 3-TIZEIB A

(B) 3,5-STEAGCIGIHIE

(C) 2,4,6-CIgAISCIBHIG

(D) BT
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- (D). (©) (

- (©) (A {B) (D)
+
{A
Options :
2268952587894. 1
2268952587895.2

2268952587896. 3
2268952587897. 4

Sub-Section Number : 2
Sub-Section Id : 22689527326
Question Shuffling Allowed : No

Question Id : 226895667511 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (41 to 45)

Read the passage carefully and answer the questions

The speed at which a chemical reaction takes place is called the rate of reaction. The rate of reaction depends on various factors
like concentration of the reactants, temperature, etc. The relation between the rate of reaction and the concentration of reacting
species is represented by the equation r = k[AJ*[B]Y, where x and y are the order of the reaction with respect to the reactants A
and B, respectively. The overall order of the reaction is x + y. The rate of reaction can also be increased by the use of a catalyst
which provides an alternate pathway of lower activation energy. It increases the rate of forward and backward reaction to an
equal extent. It does not alter the Gibbs energy of the reaction.

Sub questions

Question Number : 41 Question Id : 226895667512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The rate of a gaseous reaction is given by r = K[A][B]. If the volume of the reaction vessel is suddenly reduced to (1/4)th
of its initial value, the reaction rate relating to the initial rate will become

1.2 times
2.1/4 times
3. 16 times
4, 1/16 times

Options :

2268952587898. 1
2268952587899. 2
2268952587900. 3
2268952587901. 4



Question Number : 42 Question Id : 226895667513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Calculate the order of a reaction whose Rate = k [A]"/2 [BI2.

1. second order
2. half order
3. first order
4. zero order

Options :

2268952587902. 1
2268952587903. 2
2268952587904. 3
2268952587905. 4

Question Number : 43 Question Id : 226895667514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The rate law of a reaction is given by r = k[CH3OCH:]*2. If the pressure is measured in bar and time in minutes, then
the unit of rate constant will be

1. bar'2 min™,
2. bar¥2 min,
3. bar' 2 min,

4. bar*? min™,

Options :

2268952587906. 1
2268952587907. 2
2268952587908. 3
2268952587909. 4

Question Number : 44 Question Id : 226895667515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

If the rate of reaction becomes twenty-seven times upon increasing the concentration of reactant by three times, the
order of this reaction is

1.0
2.1
3.3
4.2

Options :

2268952587910. 1
2268952587911. 2
2268952587912. 3
2268952587913. 4

Question Number : 45 Question Id : 226895667516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



The role of a catalyst is to change

1. Gibbs energy of the reaction.
2. Enthalpy of a reaction.

3. Activation energy of a reaction.
4. Equilibrium constant.

Options :

2268952587914. 1
2268952587915.2
2268952587916. 3
2268952587917. 4

Question Id : 226895667511 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (41 to 45)

NS O AT IR U IS

forg 1fa @ i auaHe i gidl &, 39 Hfifehar &1 4 &el ol g1 el &1 o7 A SRS ol AERG! &) Figd,
o 3fe )R [k B=a1 21 ifiifear & an ok fifra o3 O Ted! &1 Tigal & oI Ty B GHIGW r = & (A [BY GRT
GRITAT O §, 981 x 3R y B ANGRS! A 3R 8 & Gay o 1fifera & oife 81 qfifpa & v ot x+ y 81 SRS &
SugnT gRT Wt S &1 9 §¢ WiaT @ o % g8 i S el @1 ue d@fud AT welH $Rdr 81 98 ofF ofR e @t
STfehaT ®f & & T 4191 I deldl ¢l I8 HTiHar & fisd ol &1 78] 9aadl o

Sub questions

Question Number : 41 Question Id : 226895667512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

U I AT B &R r = k [A] [B] BRI Gl Sl & | Aie SAfHiHa1 Urs &1 ARG &S 349 URMHS Jcd & (1/4) 9
foX a® T © 91l o, O URIIS & ¥ Tafda fiiferan a2 of et

1.2 700
2.1/4 70T
3.16 701
4.1/16 70T

Options :

2268952587898. 1
2268952587899. 2
2268952587900. 3
2268952587901. 4

Question Number : 42 Question Id : 226895667513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

TP il Pl Dlifc DI UM B fordd] & = k [A] V2B

REGIREAI
2. 34 ®ife
3. Uy @ife
4.3 Bife

Options :



2268952587902. 1
2268952587903. 2
2268952587904. 3
2268952587905. 4

Question Number : 43 Question Id : 226895667514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

HTUFHTT BT 971 999 r = k [CH;0CHS12 BRI e 91l 81 afe are §R o 3R 999 el o O1g1 o1l &, 79 &7 [RR1S &
3PS eI

1. GR2 fiTe
2. @R e
3. R 2 fie
4. G312 figge

Options :

2268952587906. 1
2268952587907. 2
2268952587908. 3
2268952587909. 4

Question Number : 44 Question Id : 226895667515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

i HYHRE @I Gisdl di- 0N SgiH R JHHTHaT &1 37 Ty 1 g1 9idl o, dl AHHE] B dife g

1.0
2.1
3.3
4.2

Options :

2268952587910. 1
2268952587911. 2
2268952587912. 3
2268952587913. 4

Question Number : 45 Question Id : 226895667516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

& Sal® yRafdd #dl g

1. Yo &1 s Sl
2. ud ffuferar & vUdt
3. Siffera @ afsegu Sl
4. FrEaRI] RS

Options :

2268952587914. 1
2268952587915.2
2268952587916. 3
2268952587917. 4

Sub-Section Number : 3
Sub-Section Id : 22689527327



Question Shuffling Allowed : No

Question Id : 226895667517 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the passage carefully and answer the questions

Replacement of a hydrogen atom in a hydrocarbon by an alkoxy or carboxyl group yields a class of compounds known as
ethers. Ethers are classified as symmetrical or unsymmetrical on the basis of groups attached to the oxygen atoms. Diethyl ether,
a symmetrical ether, has been widely used as an inhalation anesthetic. Ethers can be prepared by acid catalyzed intermolecular
dehydration of alcohols and Williamson's synthesis. Acid catalyzed dehydration of alcohols is not generally preferred as it gives
a mixture of elimination and substitution products. In Williamson's synthesis, an alkyl halide is allowed to react with sodium
alkoxide. Ethers containing substituted Alkyl groups may also be prepared by this method. The C-O bond in ether is weakly
polar and is cleaved under drastic conditions with excess of hydrogen halides. In electrophilic substitution, the alkoxy group
deactivates the aromatic ring and directs the incoming group to ortho and para positions.

Sub questions

Question Number : 46 Question Id : 226895667518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

When ethanol is dehydrated in the presence of H2504 at 443K and 413 K respectively the products formed are

1. Ethane and ethoxythane

2. Ethylmethyl ether and butene
3. Ethylmethyl ether and propene
4. Ethene and ethoxyethane

Options :

2268952587918. 1
2268952587919. 2
2268952587920. 3
2268952587921. 4

Question Number : 47 Question Id : 226895667519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The major product in the reaction of anisole with bromine in ethanoic acid, is:

1. o- bromoanisole
2. p- bromoanisole
3. m-bromoanisole
4. o-bromoanisole and p-bromoanisole

Options :

2268952587922. 1
2268952587923.2
2268952587924. 3
2268952587925. 4

Question Number : 48 Question Id : 226895667520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



In Williamson synthesis, the alkoxide ion attacks the alkyl halide via which pathway?

1. SpP

2.5y

3. Depends on nature of alkoxide ion

4. Depends on the nature of Alkyl halide

Options :

2268952587926. 1
2268952587927.2
2268952587928. 3
2268952587929. 4

Question Number : 49 Question Id : 226895667521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which is most reactive hydrogen halide for cleavage of ethers?

1. HF
2. HCl
3. HBr
4. HI

Options :

2268952587930. 1
2268952587931.2
2268952587932 3
2268952587933. 4

Question Number : 50 Question Id : 226895667522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Which type of ether is anisole ?

1. Dialkyl ether
2. Diaryl ether
3. Phenyl Alkyl ether
4. Alkoxy Alkyl ether

Options :

2268952587934. 1
2268952587935. 2
2268952587936. 3
2268952587937. 4

Question Id : 226895667517 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
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HffeEaT B @ ergafd & o 8 | ufaRnfia scmrga SHg! ard 53R i 59 A ¥ 99R fu o1 9@d 81 §R H c-0 94 gaa ga
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Sub questions

Question Number : 46 Question Id : 226895667518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

S H,50, B Julfa T 04T B 443k 3R 413k R H6iferd foar 91 § @ SOg 994 &

1. U SR TyTaRAY

2. TREH 3R 3R 2
3. TR $UR 3R Ui
4. 79 3R Tyifivd

Options :

2268952587918. 1
2268952587919.2
2268952587920. 3
2268952587921. 4

Question Number : 47 Question Id : 226895667519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

UHIE® o § giHH & 9 U & Sl § vHE 3T 6

1. o-SAIGTEIR
2. p-SmreaE
3. m-siAeIgE
4, O—Eﬁﬁﬂ:ﬁ@f’f 3R p—m

Options :

2268952587922. 1
2268952587923. 2
2268952587924. 3
2268952587925. 4

Question Number : 48 Question Id : 226895667520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952587926. 1
2268952587927.2
2268952587928. 3
2268952587929. 4

Question Number : 49 Question Id : 226895667521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

R & g & fu g sifie ftifpariic srsgion eags ®iF @ o7

1. HF
2. HCl
3. HBr
4. HI

Options :

2268952587930. 1
2268952587931.2
2268952587932 3
2268952587933. 4

Question Number : 50 Question Id : 226895667522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

U el UBR ST 59 87

1. SIEUfche 3

2. SEURT 3w

3. B Uehd 53R
4. UepTad! Ufehd 3

Options :

2268952587934. 1
2268952587935. 2
2268952587936. 3
2268952587937. 4



